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MTH 2-17c         Homework 2                                  Gold Level 

Outcome 1 -  Compass Bearings 

For each of the following,  
work out the new direction  
faced… 

A car drives north-west. It then  
turns 90° clockwise. 
What direction is it now facing? 

A ship sails south. It then  
turns 135° anti-clockwise. 
What direction is it now facing? 

A squadron marches west. 
It then turns 225° clockwise. 
What direction is it now facing? 

Outcome 2 -  Directions 

Glasgow 

. . Edinburgh 
. Dumfries . Stranraer 

. 
Ayr 

. Kirkcaldy 
. 

Aberdeen 

Elgin . 
. Perth 

. Thurso 

Skye 
. 
. Lewis 

. 
Oban 

What  
is the  
direction  
of travel  
from… 

…Elgin to Oban? 

…Skye to Kirkcaldy? 

…Ayr to Aberdeen? 

…Perth to Dumfries? 
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